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39 Y9-9F 1 3AfaH U9 T w1 FH & fod
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%l JU el HIfST
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FHUAT THET & 91 IO Uk (FRIeTeh i
wrer it

srarfea faawo § oim 4 33 foredt ft foamg =i
feafa & w9 o= & 3 faewor & Fofgs @
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11.

1=

13.

14.

16.

1-50 questions in English Language. The
candidate has to attempt this test only in one
language i.e. either in Hindi or in English. Mark
the language opted by you very carefully on the
answer sheet. [11 part contains 1-100 Questions,
each Question carry one mark.

Every correct answer will be awarded one mark.

Since the time allotted to the two parts of this
Question Paper is limited, you should make the
best use of it by not spending too much time on
any one question.

Solve the Part-I (Mental Ability) of the
Question Paper by 11.45 am and related Answer
sheet quickly sumit to the Invigilator. Part-II1
(Language) paper should be sholved by 12.45
pm and Answer sheet submit to the invigilator
Answer sheet Part-III (Scholastic ability)
should be by 2.30 pm. and answer sheet should
the submitted on previous manner.

The last page of this Question booklet is meant
for Rough work.

Method of marking Answer -

To answer a question, please darken one bubble
out of the given four, in the OMR Answer Sheet
against that question.

Use only Black / Blue Ball-point Pen to
mark the answer.

Use of any calculator, log tables or any other
electronic Gadgets, Mobile phones is prohibited.

Valuation procedure -

There are four alternative answer to a question,
only one of them is correct answer. If more
then one bubble are darkened for a question, it
will be presumed that the candidate does not
know the correct answer; hence, no mark shall
be awarded.

Handing over of Answer Sheet to

Invigilator -

Please ensure that all entries in the answer sheet
are filled up properly i.e. Name, Roll No.,
Signature, Question Booklet No. language, etc.

Care in Handling the answer sheet -

While using answer sheet adequate care should
be taken not to tear or spoil due to folds or
wrinkles.

Please return only Answer-Sheet to the
invigilator after the test.

English version of the question paper will be
considered as final in case of any dispute aristing
out of variation on translated version.




e shis : SENT - 10
WIRT-1, AEEeh TEar
PART-I, MENTAL ABILITY

fadon: weR wmuleR 1 | 5 W T AT foan mn § o
T T 91 g2 € 39 Wearas fa% (?) 9 g9 T
2 | 2 e fed T 9R faeedl | 4w ®, 39 wifed )

1. 2,5 11,23, 47, ?
A) 77 B) 97
(C) 95 D) 85

2. 3,15, 4, 16,5, 17,6, 2,7
(A) 12 B) 13
(C) 15 (D) 18

3. 2, 6, 12, 20, 30, ?

(A) 46 (B) 48

(C) 42 (D) 40
4. 68, 81, 96, 7, 132

(A) 105 B) 110

©) 113 (D) 130

5. 1,1,6,6, 11, 11, 16, ?, ?
(A) 16, 21 (B)
() 17, 21 (D)

13, 1
21, 16

9T : wg wHTE 6-10 ¥ &8 T y&F W F @rent
wH A & yaEs faw faan mn g, f@ ™ =R
fomedl ¥ ¥ T fashey o€t Gy quiar € S f fa=
11 % T IR @ T s1arl & wem ® wEl fashew g

6.  HEA : HE 2 YA : ?
(A) z@m B) Sufer=i
(C) & (D) W =t Inferi

Directions: In question nos 1 to 5 there is a number
series with one term missing shown by Question mark
(?) This term is one of the alternative given. Choose
that number.
1. 2,5, 11, 23, 47, ?

A) 77 B) 97

(C) 95 (D) 85

2. 3,15, 4,16,5,17,6, 2, 7
(A) 12 B) 13
(C) 15 (D) 18

3. 2,6 12, 20, 30, ?
(A) 46 (B) 48
(C) 42 D) 40

4. 68, 81, 96, 2, 132
(A) 105 B) 110
€ 13 D) 130

5. 1,1,6,6, 11, 11, 16, ?, ?
(A) 16, 21 B) 13, 1
() 17, 21 D) 21,16

Directions: In Question no. 6-10, there is a
question mark in the blank space and it is only one of
the four alternatives given under the question which
satisfies the same relation as is found between the
two patterns to the left of the sign :: given in the
question. Find the correct alternative.

6. Elbow : wrist :: knee : ?
(A) Ankle (B) Fingers

(C) Foot (D) Toes

P.T.O.



7.

10.

11.

12.

13.

14.

S : 92 1 T9F ;2
(A) AR
€ =

B) A
(D) faam

A : IR :: ASH ¢ ?
(A) &= (B) 3
(C) "R (D) s

BVSC:YEHX:: MRCP:?

(A) NJXK (B) LKXM
(C) NIXK (D) DIYM
211 : 333 ::356 : ?

(A) 358 B) 359
(C) 423 (D) 388

At At Al 3 & fad # uewEe G R
3TSTT T AN % WY T Ty §?

A) ®) ==
©) = D)

g T | 9t T 1 WY, G a9 g @ s
B | GO Tiar @ B} 399 el B e ]2
(A) € (B) g
(C) (D) T

gfg 5 Tad Waar a1 91 39 1 ¥ fahaq 9Har
g2

(A) 3
©) s

B) 4
(D) IS HE T

1fd <31 1 9 B 1 <A 9 & 9 © | famd

=1 o T © 3ifa faga w1 =1 82
(A) g B) <=
(C) Wi (D) =m=n

[4]

10.

11.

12.

13.

14.

Food : stomach :: fuel ;: ?

(A) Automobile (B) Engine
(C) Truck (D) Plane
Wine : grapes :: vodka : ?

(A) Apples (B) Potatoes
(C) Oranges (D) Flour

BVSC:YEHX:: MRCP:?

(A) NIXK (B) LKXM
(C) NIXK (D) DIYM
211 : 333 ::356 : ?

(A) 358 B) 359
(C) 423 (D) 388

Sunita’s mother is the only daughter of Ajay’s
father. What is the relation of Ajay with Sunita?

(A) Brother (B) Paternal uncle
(C) Matermaluncle (D) Father

Seema is older than Geeta, Ramesh is younger
than Seema and Sujata. Sujata is younger than
Geeta. Who is youngest among all?

(A) Seema (B) Sujata
(C) Geeta (D) Ramesh

If the 5™ February was Sunday how many
Mondays were there in that month?

A) 3 ®) 4
(C) 5 (D) None of these

Amit is Daya’s brother. Daya is the son of
Chandra. Vimal is the father of Chandra then

how is Amit related to Vimal?
(A) Grandson (B) Grandfather
(C) Brother (D) Uncle



16.

17.

18.

19.

20.

IR TS HHaR 1 Tt 61 el & e s @
feq gm?

(A) g¥eR
(€) TEaR

(B) vfHaR

(D) HTER

freferfaa ® & 99 91 18R 998 37 9el 9
fi=r 872

(A) SUT
(C) BOC

(B) XAZ
D) MIN

35 BTEI 1 Teh dfed | sl o1 WRY T 1291 ®IH
AT F ST Y 25 H | A WA &
o9 fra s €2

(A) I (0)(®K &) (B) 1

) 3 D) 2

e d g a9 gl @ i 22

(A) freRr (B) =t

(C) =gl (D) dfom

fra wR @ TEdl, gOU iR fEU TR S
wiqafirar =i fean s gehdr 872

(A) 30 (B) 60

(C) 45 (D) 125

Fr A A T 10 Wz TeR 2, f 7w A
3R Tt 3 HIE Fewdt § | TA: Sfel 3R gt

14 IE Sord! § 379 98 A ¥ feRalt X @72
(A) 27 w2 (B) 24 %I
(C) 5w (D) 4 @l

5]

15.

16.

17.

18.

19.

20.

If today is Monday. After 61 days it will
be -

(A) Wednesday
(C) Thursday

(B) Saturday
(D) Tuesday

Which of the following letter-group is different
from other groups?

(A) SUT
(C) BOC

B) XAZ
D) MIN

In a row of 35 students the place of Bobby is
12" from the beginning. The place of Ratan is
25" from the end. How many students are
there between Bobby and Ratan?

(A) Zero(None) (B) 1
<€ 3 D) 2

Whichofthe following does not belong to others?
(B) Violin

(D) Harp

(A) Guitar
(C) Flute

The number of ways in which first, second &
third Prizes can be given to S competitors.

(A) 30 B) 60
(C) 45 D) 125

Kavita walks from A in the East 10 feet. Then
she turns towards right and walks 3 feet. Again
she turns towards right and walks 14 feet. How

far is she from A now?
(A) 27 feet
(C) 5Sfeet

(B) 24 feet
(D) 4 feet

P.T.O.



frdor: woT wHiek 21 W25 H U & yuym ym H @1 Directions: In Question Nos 21 to 25 there are

STRfTaT & | T 9§ T 3Tt §, et ampfa 3w two shapes in first part of the Question. Second part
S § | g E - of the Question contains only one shape, choose 4th

_ shape from answer shapes.
21. 71 o — 21.  Question shapes —

B | Q‘? B Qf)]

I SH T —
0 G @ (' Answer shapes —
A B C D ') G @ C'
A B C D
22. WA STpfaar — 2. Ouestionsh
. Question shapes —
[ Dgr:] @ ? Dp
ST AT — - DDD ‘ ?
QO | OO OOO 030 Answer shapes —
OO O @ Q
A B C DO 8 8 OOO O 080
A B C D
23. ¥ S — 23 Question shapes—
TS| |da]? T [h]?
ST AT — Answer shapes —
S| PIKLL S| PIKLL
A B C D A B C D
24. 9 Tpfaal — 24.  Question shapes —
mifelEely, mi[elrell;
I STH T — Answer shapes —
DK O NIOKD O
A B C D A B C D

[6]



Q) |EH?

I AHfeAr —
47 7 .
A B C D

frdor: s whATes 26 | 30 7 o <1 T § #E T
Ty ¥ 3IW Hey & oA § W@ gU S At 5§ 4
e fo Bifed -

26.

217. A

28. X

IW faa —
< >
A B C D

25.  Question shapes —

DK 7

Answer shapes —

IN IS A E
NI
A B C D

Directions: Question Nos 26 to 30 have a certain
relation with each other in first two figures. Bearing
that relationship in mind, pick up the fourth figure
from the answer figures —

26.

: ?

Answer figures —

+le |+ . ° +.

A B C D

27. A

Answer figures —

A B C D

28. Z

Answer figures —

2

A B C D

P.T.O.



29.

30.

ESCE

A

A B C D

U9 . 31 WU . 35 § 71 =Hae & 3R W IaR
e -
18594712583659276452926
4123514283

31.

32.

33.

IE | AREd 37 & AC TiFe FF ®
(A) 3 ®B) 1
©) 2 D) 7

T4 fora 5 § oo @ 18 T 2, Hers qed
SHFAR?

(A) = T
C) @

B) ™
D) =

fore 4 ¥ 97 q{a o0t 9 Hem ® iR gl ag
e forom wem &2

(A) =rE I
(C) =

B) =™
(D)

8]

29.

30.

5 S R ?
Answer figures —

A B C r D
hd V| |5 ?
Answer figures —

Al

A B i D

On the basis of following arrangement give answers
of 31 to 35—

18594712583659276452926
4123514283

31.

32.

Which digit is the 5" left of 12% from right?
(A) 3 B) 1
©) 2 ®) 7

How many 5 are there in the arrangement
immediate after which is the digit smaller than
5?

(A) None
(C) Two

(B) One
(D) Three

How many 4 are there having an even number
immediate before it and odd number immediate
after it?

(A) None

(C) Two

(B) One
(D) Three



34.

35.

36.

37.

38.

it Tm of Frere fou S @ =xeed & &} 9
T 3 g -

(A) 9 ®) 5
©) 1 D) 3
IR =ae § 1 fvar 1 8 o8 3 vl &
T e i & 82

(A) TS B) w
© = (D)
fau mu fo= & fram o €2
(A) 8 B) 12
(C) 14 D) 16
fed ™ fo3 § feat gen d 7 72
(A) 14 B) 16
(C) 10 (D) 20

= =R f== 6t A, B, C 991 D gr1 3t 1=
213 § wA-m fox e feu T i % s w8
ey ! <9 &2

Hfgen, e, sl

& @>Q

34.

35.

36.

37.

38.

After removing all even numbers 7th number
from left of the arrangement is-

A) 9 B) >
© 1 D) 3

How many 1 are there in the arrangement
having complete square immediate before it?

(A) None (B) One
(C) Two (D) Three

How many triangles are there in the following
figure?

A) 8 B) 12
(C) 14 D) 16

How many squares are there in the figure below?

A) 14 B) 16
(©) 10 D) 20

Given below are four diagrams represented as
A, B, C and D from the following diagrams
which diagram represent a correct relationship
between these words given below?

Women, Teacher, Doctor
A B C D

P.T.O.



39.

40.

A) A
) C

(B) B
D) D

T ¥ $-m a7 wfeen, A i EEwr d
TET HaY o i 82

(@ o &

fad 7 uva & wel fowew gfa |

(67 (3o m
\%//368/\JJ
(A) 30
©)

(B) 24

18 D) 12

facor: uv wHiek 41 | 45 ¥ o3 1 famedi A 9
Feiferd e / 32 / e A

41.

42.

43.

DEF : EFD :: FGH : ?
(A) FHG B) HGF
(C) HFG (D) GHF
AZB : CYD :: EXF : ?
(A) GWH B) FGV
(C) TMR (D) QSV
TR : YRd i J9EE : ?
(A) FHArE (B) afegant
(C) wmsia (D) F.UuaT

[10]

39.

40.

A) A
(C) C

(B) B
(D) D

Choose the diagram that illustrates the
relationship of females, mothers &
postgraduates.

@ o

Choose the correct option in the following.

(4o (3]
3613 \UD/

B) 24
(D) 12

©©

an

(A) 30
(C) 18

Directions: In Question Nos 41 to 45, select the
related letter/word/number from the given

alternatives :

41. DEF : EFD :: FGH : ?
(A) FHG (B) HGF
(C) HFG (D) GHF

42. AZB : CYD :: EXF : ?
(A) GWH B) FGV
(C) TMR D) QSV

43. Maharashtra :India :: Texas : ?
(A) Canada (B) Mexico
(C) Brazl (D) U.S.A.



44.

45.

46.

47.

48.

49.

50.

(A)
®)
©)
D)

5 :3 @ 6 : ?
(A) 48
(C) so

B) 49
D) s6

fedt @@ w1g & PAINT &1 RCKPV 3
STOMP &1 UVQOR for@n siran ® 1 39 e §
HELPS <! forar smam |

(A) JGNRU (B) GINRU
(C) KONRU (D) JGNSU

T IRER § T Afd, 3Tt I, 0 I3 STt
uferal 3iR g&e 7 & IER § dH-dH o= € |

IR § Fet foha gee €2

(A) 12 B) 13

(C) 15 D) 17

F1 [ o7 9t o0 enfad feq =& €1 wehan?
(A) HHER (B) wwaR

(C) HiTeERr (D) aer

frg 9= & 1% &l 1% a7 9T 216 BNTI?
(A) (B) 120
(©) (D) 180

100
140

T 25 F2 59 ol AhE! oh IhS i HIEH dMH
SRISR TS h TS T T | Heleh Zohs ohi oialrg
T -

(A) 8% 1¥H
(C) 8Fe33T

(B) 8 g2 63
(D) 8FE 43w

44.

45.

46.

47.

48.

49.

50.

Heart : Cardiologist :: Kidney : ?
(A)
B)
(©)
D)

Endocrinologist
Orthodontist
Nephrologist
Neurologist

5:36 :: 6:7
(A) 48
(C) 50

(B) 49
D) 356

In a certain code PAINT is coded as RCKPV
and STOMP is coded as UVQOR. What will

be the code of HELPS?
(A) JGNRU (B) GJINRU
(C) KONRU (D) JGNSU

A family consisted of a man, his wife, his three
sons, their wives and three children in each
son’s family. How many members are there in

the family?
(A) 12
(C) 15

13
17

B)
(D)

Last day of a century cannot be -
(A) Monday (B) Friday
(C)  Tuesday (D) Sunday

1
1% of 13 of which number is 2162

(A)
©

100
140

120
180

(B)
(D)

A 25 feet 6 inches long piece of wood is cut to
make three pieces of equal length. The length
of each piece is-

(A) 8ft. 1inches
(C) 8ft.3inches

(B) 8 ft.6inches
(D) 8ft. 4inches

[11]

P.T.O.



WTHT -1 HTSTSTer

ENGLISH
Directions: Questions 1 to 10 8. of the boys gave a rupee to
Choose the word which best fills the blank from the beggar. '
the four options given: (A) Every (B) Anyone
(C) Al (D) Each
1.  The Colonel his brave
soldiers. 9.  The Himalayas the highest
(A) ordered (B) orderedto mountain ranges in the world.
(C) requestedto (D) said that (A) 1 (B) are
(€) am (D) can
2. Iwas by the maddening
behaviour of the clerk at the post office. 10. A wiseenemy is thana
(A) impressed  (B) infuriated foolish friend.
(C) delighted (D) admired (A) good (B) better
(C) best (D) none of these
3. Iplayed football
(A) today (B) Vyesterday Directions: Questions 11 to 20
(C) tomorrow (D) tonight Choose the most appropriate word to fill in the
blanks.
4.  Iwasnot hungry. I had just my
lunch. 11. Alexander was taken with the
(A) have (B) nothave question.
(C) nothad (D) had (A) aback (B) for
(C) rough (D) rude
S.  The dog was jumping around me,
my face and hands. 12. My school building is bigger my
(A) licking (B) liking house.
(C) leaking (D) looking (A) then (B) den
(C) than (D) that
6. When Neeta to my home yesterday ,
[ was writing a letter. 13. Lifeisan eternal teacher for of us.
(A) come (B) hascome (A) none (B) all
(C) wascoming (D) came (C) some (D) any
7. llast went to a tour two years . 14. Iclaimtobe to none in all Paris.
(A) before (B) ago (A) first (B) second
(C) after (D) then (C) third (D) fourth

[17]

P.T.O.



15.  Winners should not laugh the losers.
(A) on (B) over
(€) at D) n
16. 1hadto go the work
(A) cite (B) sight
(C) 'site (D) slight
17. My brother is a doctor.
(A) oldest (B) older
(C) senior (D) eldest
18. Dr. Abdul Kalam had a desire
to fly.
(A) long-cherished
(B) dormant
(C) dull
(D) feeble

19. Do not search for God in places.

(A) clean (B) vague
(C) obscure (D) known
20. Do not to have wanted things in
life.
(A) aspire (B) expire

(C) ceasefire (D) none of these

Directions: Questions 21 to 30. The following
passage contains numbered blank spaces. Fill in the
blanks with the appropriate word given in each case.
Students who are very fond of reading are 21 labelled
by their companions as 22. This criticism generally
comes from 23 who consider 24 better in sports.
Students who shine in athletics or in games consider
that it is 25 to spend time and energy in 26 arena
than in a classroom or at 27 desk. All the same they
do envy their 28 who shine academically. Academic

honour has a glamour 29 is unique. It is not to be 30
that playing games is a useful and healthy activity.

21. (A) just (B) often
(C) now (D) never
22. (A) readers (B) book-worms
(C) fellows (D) friends
23. (A) students (B) readers
(C) writers (D) none of these
24. (A) them (B) him

(C) themselves (D) himself

25. (A) better (B) greater
(C) healthier (D) finer

26. (A) areport (B) asport
(C) aport (D) acourt
27. (A) write (B) read
(C) reading (D) fine
28. (A) fellows (B) juniors
(C) senior (D) none of these
29. (A) who (B) whose
(C) which (D) why
30. (A) refused (B) denied

(C) declined (D) referred

Directions: Questions 31 to 40. Read the following
passage carefully and answer the questions given
below it.

Emperor Ashok was one of the earliest Indian
monarchs who planted shady trees on roads and in

(18]



public places. The Moghuls, too, realized the
necessity of shade on the roads which they
constructed. But there was no conscious planning
and the peepal, banyan and pakur trees were
indiscriminately mixed with neems, tamarinds and
mahuas. It was only in Kashmir that they showed
some preference for planning and planted magnificent
avenues of chinar along the banks of the river Jhelum,
which can be seen at their best at Ganderbal and
Mattan on the way to Pahalgam.

A plantation plan for our national, state and
district highways is urgently needed. At present our
roads are planted by the P. W. D. engineers who are
ignorant of trees. Ultimately, the planting of new trees
and replacement of dead trees is left to gardeners
alone who plant any tree which comes handy. The
result has been unfortunate and our roadside avenues
have become a mixture of odd trees.

31. Who was one of the earliest Indian Monarchs
who planted shady trees on roads and in public
places?

(A) Ashok (B) Moghul Empire
(C) P.W.D. (D) Engineer

32. The word ‘monarch’ has been used for
(A) Emperor Ashok
(B) Moghuls
(C) Engineers
(D) None

33. ‘Public places’ means

(A) openplaces

(B) places open for public

(C) places of public interest

(D) places to be used by public

[19]

34.

3s.

36.

37.

38.

39.

40.

Who realized the necessity of shade on the
roads after Ashok?

(A) The public (B) The Moghuls
(C) Theengineers (D) None of these

Planting of trees was first planned in
(A) Kashmir
(C) states

(B) public places
(D) None of these

At present, who plans the roads?
(A) The government

(B) TheP.W.D.

(C) Thestate

(D) Engineers

The avenues of chinar are to be found :
(A)
(B)

©)
D)

on highways

on state ways

in public places

Along the banks of Jhelum

What do ‘tamarind’ and ‘mahua’ represent?
(A) Name of'the trees

(B) Name of'the roads

(C) Name of the places

(D) Name of'the river

The word ‘ultimately’ means

(A) firstly (B) lastly
(C) finally (D) finely

The planting of new trees and replacement of
dead trees is left to gardeners who plant?

(A) Systematically
(B) Methodically
(C) any tree that comes handy

(D) nothing

P.T.O.



Directions : Questions 41 to 50. Fill in the blanks
with appropriate words given at the end.

41.

42.

43.

44.

4S.

Rabindranath Tagore was awarded the Nobel
Prize for

(A) History (B) Science

(C) Music (D) Literature

She is a nurse nor a doctor.

(A) Either (B) Or

(C) Neither (D) None

The patient had died the doctor came.
(A) before (B) after

(C) just (D) soon

Nitin is richer his elder brother Sachin.
(A) as (B) than

(C) then (D) with

He played cricket [ worked.
(A) and (B) but

(C) at (D) test

46.

47.

48.

49.

50.

Just look after my luggage while I go and get
the ticket from the

(A) Book office
(B) Booking office
(C) Office

(D) None of these

He is sad but hoping for the

(A) Last (B) best

(C) Jest (D) None of these
The bird the branch.
(A) flewon (B) fell

(C) flew off (D) flew of
Which house did you live ?
(A) on (B) in

(C) into (D) at

The dog jumped the river.

(A) in (B) into

(C) with (D) on

[20]



W -111, Sferes Jraar
PART-III, SCHOLASTIC APPTITUDE TEST

Hifaes e
PHYSICS
A QR 9 a7 = 22 1.  Whichoneofthe following isnot a star?
A (B) =g (A) Sun (B) Moon
(C) R (D) Tem (C) BigBear (D) Libra
T Tty gdu H wiwd g 20 . 8139 2. The focal length of a spherical mirror is 20 cm.
<qur St shal 5= BT The radius of curvature of this mirror will be:
(A) 10 3. B) 20 . (A) 10cm B) 20cm
(C) 40 3.1 (D) 80 7. (C) 40cm (D) 80cm
afe A qe A, SHEY: oel UE S v R o If A, and A, are wavelengths of light rays of
s a’i‘rrléuf 3 % ) red and violet colours respectively then:
(A) )"r < }"v (B) }\'r > )‘v (A) }\.r < lv (B) )\,r > )\.v
©) A=A, (D) 4 A Fe T& (C) A=A, (D) None of these
- . - 4. To correct the defect Myopia or near
RS A R FA TG sightedness, we have to use:
HTT TN ¢ (A) convex lens
(A) 3¥a | (B) concave lens
(B) A (C) planeglass
(C) H9ad i (D) none of the above
(D) S H | FE &l
5.  Which of the following colours is not a
et & 4 B T T T primary colour?
@A) W ®) @ (A) White (B) Green
(C) Red (D) Blue -
(C) wm= (D) fren
. 6. The image of an object in human eye is
e &t e o fadt g% 1 wfafad a7 ® formed at:
(A) iR (B) AW (A) Cornea B) Iris
(C) Hfe | (D) W (C) Pupil (D) Retina
7.  The work done in carrying a charge of 2

2 WTgsh! FATH & Tav i fag A A fag B aw o
S o faran man @ 6x 10~ 4 5@ © | 31 faiga
& 7eg favarm g
(A) 6003
(C) 3003

(B) 500 aee
(D) 100 3=

[21]

micro coulomb from point A to point B is
6x10~4 Joule. The potential difference
between these points will be:

(A) 600 volts (B) 500 volts
(©) 300 volts (D) 100 volts

P.T.O,



10.

11.

12.

13.

20 37 & gfaie § 0-2 THTeR st ¥ yated &
W | afaty & SF1 Fadi & weg o T fava
T

(A) 403r=

(B) 203
(C) 10d= D) 43
forega wiiex w U qfem 2 < uftafda s i

(A) o st ) St o 3
B) fereira st a1 wifr ot
(C)  wwhra vt ) feregera westf
(D) i St 3 wrifoer ot

Sl 39 faguid W Fan @
(A)  forqa srqere

(B) Fuig fafewwo

(C) o grarhra 9201

(D) 78§+ T

4 3@ & IR wfaly g9 A WS T ¥
ROt wfeiy g
(A) 43
(C) 23

(B) 3@
D) 13

YR H YSM I M aTelt Fededt ¥R &t Agha
1 9 B B
(A) 50 &S
(C) 100w

B) 607
D) 220%E=

Ffe Frard wfaie & IR Q oe aTell 9 1 9H ST
Y T Se dt 3T I 1 arelt S 1 HH ¢
(A) U@ ST (B) 37enE S

(C) =R € <Iem (D) =R T & S

8.

10.

11.

12.

13.

Acurrent of 0.2 Ampere is passing through a
resistance of 20 ohm. The voltage applied at
the ends of resistance is:

(A) 40volts (B) 20volts

(C) 10volts (D) 4volts

Electric motor is a device which converts:
(A)
B)
©
(D)

Electrical energy into thermal energy
Electrical energy into mechanical energy
Thermal energy into electrical energy
Thermal energy into mechanical energy

Dynamo works on the principle of
(A)
(B)
(©)
D)

Electrolysis
Thermal Radiation
Electromagnetic Induction

None of these

Four resistances of 4 ohms are connected in
parallel. The resultant resistance will be:

(A) 4ohms (B) 3 ohms

(C) 2ohms (D) 1 ohm

The frequency of alternating current supplied
inIndiais:
(A) S0Hz
(C) 100Hz

(B) 60Hz
(D) 220Hz

[fthe current flowing through a fixed resistor is
halved, the heat produced in it becomes:

(A) Double (B) Half

(C) One fourth (D) Four times

[22]



15.

16.

17.

18.

19.

THIIA 9MHA
CHEMISTRY
14. ¥ HR Gehe & A fooed ¥ fF #1922t

T €, A B THA o1 1 uRafdd 81 s 8 —

(A) et B) &
(C) TmwEH (D) Hren & war
T T BIHA & —

(A) (-CHy-CHz-)n

(C) (~CF,~CE, -)n
(D) 3 q HE T
SO, # HeHR THY] Fi Farsiehall 71 2 2

(A) 3 B) 1
© s D) 6

I o1 nfashr ferar —
(A) I dmE (B) wehrw
(C) 3 Te®™ (D) W

Cl =1 soeRites fa=ama == 82

(A) 2,8,7 B) 2,88

(C) 2,8,6 D) 2, 8,81
CHj,
|

CH3—(|: —CH; =1 smEgdteet 7 fafau)
CH;

A) = a=A

B) 2, 2 EfHuEA WU

(C) 2 -Truma sg&=

(D) 2, 3 SEMHUEA IEH

[23]

14.

15.

16.

17.

18.

When in the blue solution of Copper sulphate,
zinc strip is dipped, after some time the colour
changes to:
(A) Pink
(C) Colourless

(B) Green
(D) Remainsblue

Formula of Teflon is:

(A) (-~CHy-CHj-)n

(©) (~CFy-CF -)n
(D) None of these

In SO,, what is the valency of sulphur atom?
(A) 3 ®) 1
< 5 D) 6

Proton was discovered by:
(A) J.J.Thomson (B)
(C) E.Goldstein (D)

Chedwick
Rutherford

What is the electronic configuration of C1~ ?

A) 2,87 B) 2,8,8

€) 2,8,6 D) 2,8,8,1
CHj
l

Write the [UPAC name of CH; — C —CHj3;.
|
CH;

(A) Neo-pentane

(B) 2,2 dimethyl propane

(C) 2-methyl butane

(D) 2,3 dimethyl propane

P.T.O.



20.

21,

22,

23.

24.

TEifeet # FeA-FEA WA F 9 wE-T 20,

ECRICISICIEY

(A) THA TEHANH S
(B) fg= TeddN 5y
(C) T weEaNT sy
(D) forggd darer sy

fadra o & qcil 1 sogte fam w2 21

(A) 1s%,2s* 2p?

B) 1s%,2s” 2p]
(C) 1s%,2s%2p°,3s?
D) 1s?,2s? 2p6,3s1

e =1 TamEfes 93§ —
(A) CaSO,

B) ZnSO,

(C) CaSO,.2H,0

(D) CaSO,.H,0

g foredt v & 12 32 € wE sEe w23,

i 11§ @ 39 WA A foHaq e €2
(A) Nn B) 12
(€) 23 D) 1

e # B § —
(A) Cu @ Sn

24.

(B) Cu 3 Ni
(C) CudZn
(D) Mg 3 Al

[24]

22,

Which type of bond is present between

carbon-carbon atoms in acetylene?
(A) Single covalent bond

(B) Double covalent bond

(C) Triple covalent bond

(D) Electrovalent bond

What is the electronic configuration of the

elements of II group?

A) 1s%,2s 2p°

B) 152,2522pI

(©) 1s,2s*2p°®,3s?
D) 1s%,2s*2p°,3s'
Chemical formula of Gypsum is
(A) CaSO,

(B) ZnSO,

(C) CaSO,.2H,0

(D) CaSO,.H,0

If there are 12 neutrons in an atom and its
atomic number is 11. How many protons are
present in it?

A) 11 B) 12

€ 23 O 1

Brass contains :

(A) CuandSn
(B) CuandNi
(C) CuandZn
(D) MgandAl



25. Ufceems framas g & S 1§72

26.

—C=0

|
B) —»0=C -H

(A)

0

© — C-n
0

O — (HZ—O—H

Hifeqn Fmeie & weg o § CO, ™
feran ¥ yaifed w7 W W 9 ST g5
3 _
(A)
B)
©
O

NaOH
NaHCO,
Na,CO,.10H,0
Na,CO,. H,0

28,

26.

What is the structure of aldehyde function
group?
A) —C=0

|
®) —0=C -H

(”)

© — C-H
I

@) — C-O-H

On passing CO, gas in excess in aqueous
solution of sodium carbonate, the substance
obtained is:

(A) NaOH

(B) NaHCO,

(C) Na,CO,.10H,0

(D) Na,CO,. H,0

(23]

P.T.O.



27.

28.

29,

30.

31.

32.

33.

EICRCEIE]

BIOLOGY

TH HIfer F 128 HIfeHT a7 § farat SR
g fasem g —

A 7 B) 8

©) e D) 4
Sraiferan Hefed & —

(A) fazad B) wHHTd
(C) THifere (D) snedmrEry
g™ vgfa ¥ wuw wee <widl & —
(A) fa (B) d@w

(C) Susifa (D) 379 @ = &
= Hafea § —

(A) Tafemd (B) wmifsn @
(C) wuHifere @ D) <ifen |
fefm‘vU'sisH Aga e —

(A) ¥\-3%

15)) mlm(@fqm)

(C) it

(D) @l

e A @ i T T A S R
(A) e sb ki B) =A

(C) s D) ==
fagen! sTicieH Hefua § —

(A) =R E B) ®gM @
(C) waid (D) ;3

27.

28.

29.

30.

31.

32.

33.

[26]

Number of mitotic divisions required to
produce 128 cells from a single cell is —

A 7 B) 8

© 6 D) 4

Obelia belongs to —

(A) Coelenterata  (B) Porifera
(C) Annelida (D) Arthropoda

In binomial nomenclature first word indicates
(A) Species (B) Genus
(C) Sub species (D) None of'these

Whale belongs to :
(A) Mammalia (B) Amphibia
(C) Annelida (D) Reptilia

Deficiency of vitamin ‘A’ causes —
(A) Beri-Beri

(B) Anaemia

(C) Night blindness

(D) Scurvy

Which of the following cannot be considered

as areceptor?
(A) Muscle (B) Ear
(©) Eye (D) Nose

Chipko andolan is associated with:
(A) Tomatoes (B) Turtles
(C) Trees (D) Lions



34.

33,

36.

37.

38.

39.

40.

= 8 @ %9 @ yerd S9 frefiea =T g §72

(A) uegfafm wig

(B) e i Tl

(C) =3

(D) =™

g # fe@rE <3 aret 80 FEdd § —
(A) HHRTEY B) SRR
(C) wifEery (D) WERREY
fom s AT' —

(A) Tafan (B) =mfEn
©) w=m (D) federfes
e 5 el el & —

(A) =Rmgad  (B) Axwii-said
(C) F==d (D) wEEEH
37ee oo fehEah SR Bt § 2

(A) CO B) SO,
(©) O, (D) I g+t
Freferfiad & & T @ & —

(A) e B) @

€ = (D) W=

=Y &1 aEfas T —

(A) weifstmergfea
(B) UsHH WREH
(C) wfaan frgen
(D) wifgsw wHafEd

35.

36.

37.

38.

39.

40.

Which of the following is not a biodegradable
material?

(A)  Aluminium foil

(B) Animal bone

(C) Wood

(D) Cotton

The visible characteristics in an organism are
known as:

(A) Phenotype
(C) Stereotype

(B) Genotype
(D) Prototype

Sexually transmitted disease is :
(A) Malaria (B) Diarrhoea

(C) AIDS (D) Hepatitis
Kreb’s Cycle takes place in:

(A) Cytoplasm (B) Mitochondria
(C) Nucleus (D) Ribosome
Acid Rain is caused by:

(A) CO (B) SO,

<€) O, (D) Alloftheabove

Which one of the following is a renewable
resource?
(A) Coal
(C) Forest

B) Oil
(D) Petrol

Botanical name of Margosa (Neem) is:
(A) Azadirachtaindica

(B) Pisum sativum

(C) Cassia fistula

(D) Brassica Compestris

[27]

P.T.O.



41.

42.

43.

44.

45.

46.

47.

48.

gfae™

HISTORY

frafafaa & @ S TR foy @ § gefua
T/ §?

(A) ﬁlﬂ‘ﬁﬁa@ﬁ (B) EGIER
(C) i (D) e
fr=fafas § | S 98 Ted g=i=aH 91?
(A) Fog B) TR
(C) 3tudag (D) F9e
TSV S FEATTH o —

(A) g (B) FAIA
(C) =<« (D) Fg=I«
AT T e & e H 9RA 3E1?
(A) TSR (B) wHaEH
(C) wfead= (D) dad
BRE-gaeh1 A fFg TR 1 4191 612
(A) == B) fosETR
(C) feedt (D) HESETR
qreed forga seam ar?

(A) R . (B) s
(C) vmEsEl (D) AT
A & < e i U9 § —

(A) i iR swfaa

(B) AW 3R HETYRA
(C) wzfaat iR Tt srawm
(D) FTF M HAT

3ifqs 7Te e i A2
(A) e 11
(B) wegwE II ()
(C) wreEfFar 11
(D) e s 11

41.

43.

44.

45.

46.

47.

48.

[28]

Which of the following city is not related with
Indus civilization?

(A) Mohanjodaro (B) Kalibanga

(C) Lothal (D) Patliputra

Which of the following was the oldest veda?
(A) Rigveda (B) Samveda
(C) Atharvaveda (D) Yajurveda

Founder of Gupt Dynasty was:
(A) Shree Gupt (B) Kumar Gupt
(C) Skand Gupt (D) Samudra Gupt

Huen Tsang song came in the period of :
(A) Rajvardhan  (B) Harshavardhan
(C) Balivardhan (D) Shrivardhan

Which city was established by Harihar -
bukka?

(A) Bahmani
(C) Vijaynagar
(D) Mohammad Nagar

(B) Delhi

Taj Mahal was built by:
(A) Babar (B) Akbar
(C) Shahjahan (D) Aurangzeb

Two great Indian Epics are:

(A) Geetaand Bible

(B) Ramayana and Mahabharat
(C) Bible and Irani Avesta

(D) Quranand Rigveda

Who was the last Moghul Emperor?
(A) AlamgirIl

(B) Bahadurshah II (Zafar)

(C) Farrukh Siyar II

(D) Shahalam II



49.

50.

S1.

S2.

53.

54.

S5,

YRAT UL T & GUH T8 hiF 972
(A) AR T

(B) AR Te®

(C) s <

D) SR A T HE =S

(B) 1925-26
(D) 1927-29

(A)
©)

1920-22
1918-20

Tl TSI SYSI T=rer 1 Jged fohan
oqr —

(A) doEH (B) wfEmnd
(C) foud (D) s@uH
TSUHITG e ® ...

(A) o€ st (B) o #fEn

FUS IR & URY Teyey & fhg wex 4

gam?

(A) TN (B) wrR
(C) SER (D) s
qcIe TR & T1id gaT?

(A) 1918 B) 1919
(C) 1920 (D) 1922

FRAE &lTeh i TA9A1 fohE &t oft?
(A) wafds

(B) == S

(C) v fagrd a™

(D) gemw== <™

49.

50.

S1.

52,

53.

54.

SS.

Who was the first president of Indian
National Congress?

(A) Bomesh Chandra Banerjee

(B) Jawaharlal Nehru

(C) Gandhiji

(D) None of the above

Non Co-operation movement continued till

(A) 1920-22

(C) 1918-20

1925-26
1927-29

®B)
D)

Lala Lajpat Rai led the extremist movement
in:

(A) Punjab
(C) Sindh

(B) Haryana
(D) Awadh

Doctrine of lapse policy is related to
(A) LordDalhousi (B) LordHesting
(C) WilliamBentick (D) Sir Thomas Ro

Which city of Madhya Pradesh “Jhanda
Satyagrah” was started?

(A) Indore (B) Sagar

(C) Jabalpur (D) Bhopal

When was the Rowlatt Act passed?
(A) 1918 B) 1919
(©) 1920 (D) 1922

Who established ‘Forward Block’?
(A) Bhagat Singh

(B) Chandrashekhar Azad

(C) Rasbihari Bose

(D) Subhash Chandra Bose

[29]

P.T.O.



56.

57.

S8.

59

60.

61.

e

GEOGRAPHY

e @1 IRA % fohe T4 | B1ehT TRl €72 56. ‘Tropic of Cancer’ passes through how many
(A) T (B) ®: states of India?
(C) Hma (D) =13 (A) Five B) Six

(C) Seven (D) Eight

TIgey A g 1985 # forg &3 § <@ T
7?7

(A) <fgumsmfe  (B) ufvad g
(C) oT=rhfeam (D) 3TeTEH

FUSHA TS fehtaR 519 598 ® el g9 ! e
T ferat €2

(A) 385 (B) 209
(C) 436 (D) s72
T § 9gd 1 99 gl ¢ Fifh —
(A) TEogd T

(B) Tt %Y T S R AT I @ e E |
(C) vaHAl & TH H *IE 3y &1 ¢ forad
THFT T FI ISHL 381 &1 T |

(D) 39 & dh AHgH &l 69 Uai e |

=1 4 | form Tt o hredt wal OR et 7@ uwd
St 872

(A) TR (B) d=
(C) w=AYRW (D) weR=
e 8 § sl T 1 ST T wE 2
(A) W] B) =
(C) w=<gr (D) w@uea

[30]

57

S8.

59.

60.

61.

In which of the following area the ozone hole
was observed for the first time in 1985?

(A) SouthAmerica (B) Western Europe
(C) Antarctica (D) Alaska

How many islands are there in Andaman and
Nicobar Islands?
(A) 385
(C) 436

B) 209
D) 572

Rajasthan receives very little rain because:

(A) Itistoo hot.

(B) Due to scarcity of water the winds
remain dry.

(C) The winds do not come across any
barrier in their path hence are not
uplifted to get cool.

(D) Monsoon fails to reach this area.

In which of the following states Black and
Regur soil is not found?

(A) Gujarat (B) Punjab

(C) MadhyaPradesh (D) Maharashtra

Which of the following is the place of origin of
Chambal River?
(A) Mhow

(C) Mandsaur

(B) Neemuch
(D) Khandwa



62.

63.

64.

65.

66.

67.

Ha ga1 fFg R & o4 § T S €2
(A) 3o sfcaHy Tui a9

(B) fdmnad

(C) s ea

(D) < =

e 9ty f= # | fFg 9 W o= T {2

(A) FIeS B) Fom
(C) Tt (D) wm

= 5 9 39 75 SaRAeHE g1 9 § fHerdt
&2

(A) =R
(C) =

®)
D) e

frefafaa § 3 =9 @ 92em A Stang 7€ ™
ST §?

(A) HTHER B) 3T
(C) ¥« (D) =Rt qeart
‘s’ gfag ® —

(A) T S & fag
(B) wnfie word & fag
(C) T F FREM & fo
(D) & 3eae

‘T - STEH T el fed ®72
(A) =3 B) feeed
(C) TeErR (D) EHER

[31]

62.

63.

64.

65.

In which type of forests mangrove trees are
found?

(A) Tropical rainforests

(B) Temperate forests

(C) Tidal forests

(D) Thorny forests

Hirakund Dam is built on which of the
following rivers?
(A) Satly

(C) Mahanadi

(B) Krishna
(D) Ganga

Which of the following rivers join the sea

through an estuary?
(A) Ghaghra (B) Son
(C) Narmada (D) Gandak

Which of the following rocks do not contain
fossils?

(A) Marble
(C) Shale

(B) Igneous
(D) Sandstone

66. “Balaghat” is known for :

67.

(A)
B)
©
D)

Manganese production
Religious place
Railway workshop

Diamond production

Where is National Geothermal Research
Institute situated?
(A) Mumbai

(C) Hyderabad

(B)  Delhi
(D) Ahmedabad .

P.T.0.



68. = # A 9 & WO F wOA TET §?

69.

70.

(A) ==

(C) SIR-9TSRI

(B) =&
(D) =

2011 ! STUET & ITAER FaH HH TTEEA!

T Tl T4 hiF T 82

(A) femraa w_w

(B) 3TEUTEE ¥RV

(C) omm

(D) fosim

IR # 1 # @ 39 W SuTe 9o e |2
(A) UREY (B) IR

(C) =wigen (D) He%

68.

69.

70.

Which of the following is not a kharif crop?
(A) Rice

(B) Pulses

(C) Jowar - Bajra (Sorghum - Pearl millet)
D) Soyabean

Which state has the lowest population density
according to 2011 census?

(A) " Himachal Pradesh

(B)  Arunachal Pradesh

(C) Assam

(D) Mizoram

Which of the following is the biggest port
in India?

(A) Paradeep (B) Tuticorin

(C) Kandla (D) Mumbai

[32]



1.

72.

73.

74.

75.

AR 9T

CIVICS
YR &1 Gy . B 71.
(A) e
(B) 3R

(D) 3w H 9 HE T&l

RA & Hfaur # Hifes s feg o wifha
fwa ™

(A) 1975
(C) 1977

1976
1978

B)
D)

Tegyey ¥ faum gy o gt =1 g feaah
22

(A) 228
(C) 230

B) 229
(D) 231

R Hfaur feg fafa @ gama & sman?
(A) 26 SHE 1949
(B) 26 SHE 1950
(C) 26 == 1949
(D) 26 FE=X 1950

YA & 7 fatam egea &t fgfaa fraer g
Y St §2

(A) Tl

(B) vy

(C) THU=

(D) ereAe AhE

74.

15.

Indian Constitution s ....................
(A) Flexible

(B) Rigd

(C) Flexible and Rigid both

(D) None ofthe above

Fundamental duties are included in the
constitution of India in which year?
(A) 1975 B) 1976
(©) 1977 (D) 1978

How many seats are there in state legislation
assembly in Madhya Pradesh?

(A) 228 B) 229

(€) 230 (D) 231

On which date Indian Constitutution came into
effect?

(A) 26January 1949

(B) 26 January 1950

(C) 26 November 1949

(D) 26 November 1950

The Chief Election Commissioner of India is
appointed by —

(A) President

(B) Prime Minister

(C) Governor

(D) Speaker of Lok Sabha

[33]

P.T.O.



76.

77.

78.

79.

80.

AT

ECONOMICS

RA H 1 GUR F1dhHT Fd ] g2 76. When was land reform programme introduced
A) fcw Fad in India?
B) T wE H (A) During Vedic Period
(C) fofen v & (B) During Mughal Period
(D) A& 9] (C) During British Period

(D) After Independence
;:aaé S T e S e 77.  Which five year plan is continuing in India, at

. present?
(A) et (B (A) Fifth (B) Eleventh
(C) e (D) =t (C) Sixteenth (D) Twelfth
frfafaa o @ =9 oI IS e F 98 78. Who among the following was great exponent
T&TER 92 of Panchayati Raj System?
(A) wgTemT T (A) Mahatma Gandhi
(B) ORI AE® (B) Jawaharlal Nehru
(C) viswara i (C) Shankar Dayal Sharma
(D) TG T (D) Lalbahadur Shastri
. 79. Asperdevelopment, Madhya Pradesh comes

T % TR Heavey forg goft § o1 872 L

in which category?
) R (A) Developed state
B) FuRwmRwmT (B) Under-developed state
(C) fomrasfiar T&a ;

(C) Developing state
(D) ST T (D) Un-developed state
‘foren’ = Frefefag § Q fopg &3 o gfimfem 80.  “‘Education’ is included in which of the following

feran < 82

A) wafrs &=

B) fadia® &=

(C) TiaF &

(D) Sugw & | FIE T

sector?
(A)
B)
©)
D)

Primary sector
Secondary sector
Tertiary sector
None of the above

[34]



81.

82.

83.

84.

8s.

T

If U is any universal set and A is the subset of
U, then AUA’ =

(A) U B) o

MATHEMATICS
Ife U =iE gafe 99=a ¢ 91 A ST Sueqg=9 81.
T AUA’ =
A) U B) ¢
<€ A D) A’

T 7! & foredt T o 7T 1 3k I H oiF 82.

F1 T ¢ | Afg 31hl 1 WER aed S, 9 e
18 &4 Bl STt €1 99 HEA ¥ -

(A) 24 B) 36

(C) 39 (D) 42

af i s ABC § tanB=3 @@ 83.

sinB 3R cosB&H AT :
INE)
(A) 0,1 B) >
1 51
© 7R ® 53

T HIS F %A ged T 27,000=00 ? quwr sq% 84.

gitee # T 2,400=00 =@ ¥ ¥ | afz M ;Y
¥ 33,810=00 ¥ =, T 1Y 1 Hiawrd &hm
A) 5% B) 10%
<) 15% D) 20%

AfFp R TE TIIBA T I FHIFHTEH 85,

¥iTY ATt A i W §:

(A) 2 B) -
4 2

©) 2 D) c
3 5

[35]

© A D) A’

Ina two digit number, the numbér of ten’s place
is double of the number of unit’s place. If we
exchange the numbers mutually then the number
decreases by 18, then the number is —

A) 24 B) 36
© 39 O 42

Ifin aright angled triangle ABC tan B=/3 ,
then value of sin B and cos B is :

1 V3

(A) 0,1 B) 5,§
1L V3 1
©F7TE O 33

The cost price of a horse is ¥ 27,000=00 and
transportation charges are ¥ 2,400=00. If
horse is sold in ¥ 33,810=00. The percentage
of profit will be :

A) 5% B) 10%

©) 15% D) 20%

Two coins are tossed simultaneously, the
probability of getting at least one head is —

3

(A) ®B)

© D)

wnlw N~

4
2
3

P.T.O.



86.

87.

88.

89.

90.

91.

T ¥F H A 2744 cm? T 1 3HE RN
BERTSRIUIE

(A) 196 cm?
(C) 784cm?

B) 1176 cm?
(D) 588 cm?

T gafeTg e it S /6 cm © | T
&t BT -

(A) 22 cm?
(©) 23 cm?

6x/§ cm2
3\/3 cm?

B)
(D)

T =S R A qenetl & weA faged w

e T TErEvE 99 ® -
(A) wAiR=Egds  (B) o
(C) wm=gy™ (D) s

10 cm ¥ 91et GG § we faemol it o
12 cm ¥, g faeot =t eramg gt

(A) 4cm (B)
© D)

8cm

12cm 16 cm

afg fys ABC & ¥ 5w : (0, 6), (=5, 3)
agn (3, 1) ¥, 7@ s g

(A) wHfgaTg (B) wmf¥eg

(C) wweIvia (D) T ERE FT

fig P(— 4, 2) 7 Q(8, 3) T firem areht Yan =
y-3181 for argama H favem e @ -
Aa) 31 B) 13
©) 21 D) 12

86.

87.

88.

89.

90.

91.

[36]

The volume of a cube is 2744 cm3. Its surface
area is—

(A) 196 cm?
(C) 784 cm?

1176 cm?
588 cm?

B)
D)

The height of an equilateral triangle is /6 c¢m .
Its area is —

(A) 242 cm?

(C) 243 cm?

6\/5 cm?

3\/5 cm?

B)
D)

The line segment joining the mid-points of the
adjacent sides of a quadrilateral —

(B)
(D) Rectangle

(A) Parallelogram
(C) Rhombus

Square

In arhombus of side 10 cm, one of the diagonal
is 12 cm long, the length of second diagonal
will be —

(A) 4cm
(©)

(B) 8cm
D)

12cm 16 cm

If the vertices of a triangle ABC are (0, 6),
(-5,3)and (3, 1) respectively. Then triangle is —
(A) Isosceles (B) Equilateral

(C) Rightangled (D) None ofthese

y-axis divides the line joining the points
P(—-4,2)and Q(8, 3)in the ratio :
A) 31 B) 13
© 21 D) 12



92.

93.

94.

9s.

96.

97.

cos*x —sintx =

(A) 2sin?x-1 (B) 1-2cosx
(C) sin?x—cos’x (D) sTHIFE T
1+sin9+ l1-sin®
1-sin 6 1+sin 6
2 2
(A) sin O B) cos 6
2 2
© tan 6 (D) cot O
V3

211=<«'sin(A+B)=1?12Tlcos(A—B)z?ﬁTﬂ
A qa B F AF 8N ;
(A) 45°45°
(C) 60° 30°

(B) 30°,45°
D) 0°90°

i 3x2 —4Bx+4=0 F A :
(A) ardfask 3 T8

(B) arfas 9 o=

(C) wrafew

(D) ar=fas 9 Hreafie El

T STIAIRR &1 i qRIAdr 82 e & qen 3qeh
8% 400 a7 HieX § | 99 39! Al B
(A) 9= B) 12 7=
(C) 16 D) 25t

Q gt & 97 1 =R 180 ¥ 1341 & | B
e &1 a1 9 g &1 8 A €Y, a« o
e ®

(A) 32,4 B) 24,8

(C) 16,2 D) 18,12

(371

92.

93,

94.

9s.

cos?x —sinx =

(A) 2sin?x- 1 B) 1 -2 cos2x
(C) sinx—cos?x (D) Noneofthese
1+sin6+ l1-sin®
l1-sin® 1+sin@
2 2
(A) sin 0 B) cos 6
2 2
(©) tan 0 (D) cot B
3

If sin (A +B)=1 and cos(A—B):T ,

then the values of A and B are :
(A) 45° 45° (B)
(C) 60° 30°

30°, 45°
(D) 0°90°

The roots of the equation 3x% —4+/3x +4 =0
are :

(A) Realand unequal

(B) Realand equal

(C) Imaginary

(D) Real and Imaginary both

The perimeter of a rectangular field is 82 meters
and area is 400 meter?? Then the breadth of
the field is :

(A) 9 meter (B) 12 meter

(C) 16 meter (D) 25 meter

The difference of the squares of two numbers is
180. The square of the smaller number is 8
times the larger number. The two numbers are:

A) 32,4 (B) 24,8
(C) 16,2 D) 18,12

P.T.O.



98. & TNMER Wihd WSl & it &1 A 421 ¥,

99.

& ®
(A) 14,15 B) 21,22
(C) 9,10 D) 17,18

e @ x + 2y =6, 3x + 6y = 18
(A)
B)
©)
D)

AETT §
e Afgdig o @ ©
3Hd T [T ©

T A i T

100. afe fodt 9o & YR 1 5540 r 81, 991 3T

1 h §), 9 IHH Tl T8 §AFA B ¢
(A)  2mrh

B)  2nrh+2nr?
©)  nr*h
(D) T 9 HE T

98.

99.

100.

The sum of squares of the two consecutive
natural numbers is 421, the numbers are :

(A) 14,15 B) 21,22
(C) 9,10 O) 17,18

The system of equations —
Xx+2y=6,3x+6y=18

(A)
®)
«©)
D)

Is inconsistent
Has a unique solution

Has an infinite number of solutions
None of these

If r is the radius of the base of a cylinder and h
is the height of cylinder, then total surface area
willbe :

(A) 2mrh

B) 2mrh+2nr?

(©) nr’h

(D) None of these

[38]
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